Emm‘/; 0(%5{‘)/. ’[‘QWFH -e?_d(,i
/ &)aufop i [D“l'f‘é(’? @’fawfq_@JH

ANGE L elearning Famiv.edy

V&fﬁkfc’{%[v@_ﬁ CC(O W FDX?MKfLéi

5[/(4(:(// 5%/«3*%_@5



A)”: 5O 7 (c_m?ﬂ. (n xl)
DN = [0/ 602  (new x‘a)
Dovatives esfimate Ay given Ax.

A
/A_%: =5 Gﬂ% = Zx 6(/<
dx LA are esTindes o Ax&ay

Cﬂ)(f—&x':g
Jy - /X JXKT- 2 ((102) (3) =800

oo >

Ay = 600 & 07 =AY



Szt =[5 A

Kiax =985 yray~
(e
785

A)/ N A/f—'- 2.5 JX AX = Axx=—(5
Ay R dy = 2 (102 (=15 ) ==30,009

0@@ 00O — 80 09 d

>/+A>/ )/r%of)/
>/+A>/ 7—936 H’V?}ZO/OGO
oA Q70,225 (Frow <l it

This (s Hle meoics & Z

((C B 3
e



HW # Use  derivatives T2
o stimale (0072; 6,08’?
o d C*-- 7.0 %)1 !
Use a caleul=tor To ?,g..JF tle

e,mz(ﬂp 57L¢¢EV€S.

S
Wihere = did éj,::(ZxJﬁ %;jfé_
Ccoma. me? 'VSQM s

e ek

E(hé&“&/ ’f’,(,@or@m
qu‘b) — Cd+m) = T 4_q19¢bq,fé




e -+ @5@ @?@7[; 04 ¢ '\C}?ﬂw
.—h? S&{Uﬂ ' E"V\ Ay

- 2
o A AY = (?VFAX>
—(y e J

< p B
A)/: <,>< 4’*/57"\') = a8 _
new - old = new o ld \
A}/__ XL&ZKAX "“(A?‘b /X
ZXQX+@X>

X::f@@ 2o gx;g@

_,.#-A/

£
2

4 - [@QOO {602 =(0 603

2 )O‘Ea’_ AT T
> Es‘f‘mﬂ%;i d%—?‘;b(o/x = Zxans

-

#Z(OC}>(,§>’+‘ 25 =603

Ny & 2xax
5,{?,, 2l0o) (3 =600

y +dy = (0pod+ 600 =199



@S"F-;W?% =T Dy = /= AX ff‘@xj ?_
Whan  ax i swal| Compared T X,
(z:a)(\z s smell mmtﬂwﬂ/ fo> I AX
E@_ KT-fC)Q, le,:_g/ Gﬁ,><)2: 9/

DV Ax = L0

Bq 2N X !2‘ 55“‘-4// Q@mpargqj T P<>

Ly
e
<t A = | . P
ok .
ety At
967 2% ~), 967
(b’ = a%s3erh +3ab® +6°

£

@Ay: (x+é}x)g N x-\
V\e,buf“aféf

v 3k 2 3 3
— T B as T AXAR S Haxc—



4= S A F (ExafoaXz},AX
\,_’V
s mall

_Ay’r ngAX+ (SM”)AK

(A%‘: %K&&{K = ﬁf:f{{gL-::gxa
i

=2 die & A= O SEE

A ML{CA 5!%«(/@.?;‘— ﬂ{
gf ’!&Zw&? JP'{ &L

Ay # dy = 3(22)(~0.0%)= 0,48

g s
Y*,ﬁ?,:z,% — YL PE Ty

Géb\@ffﬁ/ (‘lg,q - )/::]C(?()
G!lé, — f[(x> A?C Cname 2= i%;:fr(x))

i L hen Ax & Swalf gmyép




Ay = F(xsax)= A= Fx0 dx
S ZQX?AN
wd o estinafe 5 goocd o
Hee Sgusa FhaT
A/ o ;C/(x>a€/< A= (qulD CPK
I J =

/e o mu,éd S'Ma,//é?‘r
*{’&MA Ax

IM F%C/ ’(C@V"V'ft;
Bl Ry T e

What A mean (S 5 > = <
i §M¢£(// ENow /(LAM

2

/_,\_\7/: (J;’>/,g>< +(5m//>&
L= dx Ly



Anofher e ts  weile  #f:
d)ﬁ“:/.’b)(l ,{(ﬁ‘b (&)/t (

d< 2x
/ d{éﬁL — ’5%5;" A)/ — 0(% A (SMC{H_)O&
< Xf::? (p(aﬂ> ZSX:O’Z

‘ kiasse = ) (rewo D
(o) = (R =3 Gewds ytar =letax
MMW)/MV:W o

L;; el s 8, 2 B, Lot e

—

‘Ab"izf’; Sl AR
dy = 0 02338333,
Is A)/’—‘— d%#éma“)ix ?

0,093333 .= 0, 355 A (seecll) (0. 2) ¢

5 03315, .. —€). 3305 ..
% nodlg... = O “’<‘3“Q(/J(o' 1)?

Y .




G 000lE

(

— w11 Y (0,2
gt e L e
e fraiion
O ,6009_-, — -S Mq{/ ? )/@_:;J C@MZE‘?PEJ
T owr SEe aumbers
5+ar+i'ﬂg—
3 : ¢
y | dy Ay






